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W2 BEO 2HEE2 Inverter =& Al £t &[4 b3 bHzE 28 oA EIH Q-H=4 28 89

= BEOIA Md=4d= M2t LR CHOA 2 MokAH BB 2 W=ea B RFea0] H40k= 210

i3

o A HIS SR 2Q-HEU BHL= HC| =0IH, 2IHE Al B)EUIAM (C)H2IE U E

#0] Ol =,

Ho N> Do

O X —( .

S EC R VAR S S
N—(/—H2> N N = ( 425> 60 = 53.5(H7)
22N >=\/B35 "~

* 2| K|OIA] B[ E= AR

2 2H[HE e 3 BLoS 37128 CIHE=2E
(kW) (m’/min) (m) (%) ) )
425 77 945

(A2211-JB) 40417 2433 . . .

-EHIT nglz) (“5—7’—/55/57HH Sos 7i-||_<5>_o|->

OO O O

-OIHE| SS(n)): 94.5% (5 ES 90%°| SS)

12 45.0 /0 47 915
18 619 380 48 93.0
24 /5.0 90 54 94.5
30 84.4 100 60 96.0

H& (kg/ m3) x 2 (m3/ min) x UH (m)

A AHIZ (W) -




Cl. 7|ICH=2}

2H| 8 2H| 8 " 287tA
oras i s sl s
toe/dl 2
%] e/ [tCO2eq/4]
215347 37.82 49314 22237 2125 096 986,99
(1) ALt 712
C

(7h A= ttI1:103.26[2/kwh]
(Lh HZ7t=AIZE: 8,760[h/H]
(ChH 7H& & AH|&= - 650[kW]
(Zh 7HM & AH|®= : 404.17[kW]

(2) Buse
=i A AB[EEW] - 784 S A=)

=650-40417 =245 83[ kW]

(3) @izt Mz
=24 MKW x At 7S AL h/H]
=24583x8,/60
=21534708[kWh/H] - 49314[toe]
(4) izt o
=017t

Y ZI2ZH kWh/E ] x 2! /kwh]
0

2153470.8 x103.26 = 222.37[
(5) EXHI : 212.5(842H2))
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(6) EXHI[=|=712t

Oll &t =R (=42 12)

|
SUSUELR/ )

21250
22237

(7)

8
\

[
2
NI

HH) e

1 A= wh/E ]/ A © HE AR KWh/ ] %100

7 153 470.8[kwh/H]/5,694.000[kWh/=E] %100
82[%]

(8) 2a7tA Ma%

= E_i M (te/d) x (Ol=teta EXE/EAEAE)
=269.18(tC/'H) x (44/12)(C0O2eq/C)
=986.99[tCO2eq/ ]



